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(x"Y=nx"? (ax")=anx"' (ax)'=a (a))=0 aneR
*
(sinx)’=cosx (cosx)'=-sinx (tanx) = 12
€0s” X
*
(sin™x)' = = (cos'x) =— ! (tanx)’ =
1-x? V1-x? 1+x°
*
(€)' =e* (@*)'=a"loga (logx)' = £
X
4

(sinhx)’ =coshx (coshx)'=sinhx (tanhx)’=1—tanh®x
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Xa+1 dX

@) | x%dx= +c (6) =sin x+c
I a+l (a=z-1) J-\ll—xz (x#+1)
1 dx -
Zdx = =1
2 jxdx log|x|+c 7 f1+ 2 an~™ x+c¢
(x=0)
“dx=e*+c (S)I dx =EI x—Jr1+c
@ Je'dx= 1-x2 2 “|x-1

(x #+1)

(4) Isinxdx:—cosx+c ©) J' dzx 1=Iog‘x+«/x2—1+c
X -
(x<1)

dzx = Iog‘x+\/x2 +1+¢
+1

VX (X <D
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(5)Icosxdx=sin X+C (10)J'
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x=4(t)
[ £ 09dx= [ f($(®)g' )t

j f (x)dx = F(X) F'(x) = f(x)
x=¢(t) F(s®)

& s < SFOO) 00O _ i san st aons
PO =0 =F OO = 1608 O

[ f(@W)¢' (dt = F (1) = F () = [ £ (x)elx
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[ £ (0ax X = @(t)

dx
d—)t( =¢'(t) dx = ¢'(t)dt

[ f00dx=[ f(4(1)¢' )clt
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I22(+1dx
X2+ X
t=x?+x
X E:(2x+1) dt = (2x +1)dx
dx
2X+1 1 dt
dx = 2x+1)dx = | —
-[x2+x J.x2+x( ) t
J'22X+1dx: ﬁ:Iog\t\+c:log‘x2+x‘+c
X% +X t
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(2)

J‘];((X)) J'f( )df(x)—log|f(x)|+c

jtan xdx = jﬁd _—I_Sin X dx

oS X
- _J' (cosx)' J' d (cos x) = —log|cos x|+ ¢
cos X cos
)
J.XZ\/ X +1dx
tox+l dt—dx  x=t-1
1
[%*V/x+1dx = [ (t-1)*tdt = [(t2—2t+1)t5dt
; e -

-]

t2)dt=St2 —Zt2 4= t2 +C
7 5 3

2 Z 5 5 3
(x+1)2 —g(x+1)2 +§(x+1)2 +C
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J‘de
Vx> -4
t=x*-4 dt = 2xdx

j#dx;lj#Zde:EJE
V-4 274x2-a 20t

1 1 1
=%J't7dt=%-2t5+c=t5+c=\/x2—4+c
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f(0.9()
[ 1009’ (dx= £ (x)g(x) - [ H'(x)g (x)x

[ £ 00dx=xF ()= [ xf'(x)dx

%{f(x)g(x)—j ' 0)g()dd= £'()g(x)+ f()g'(x) - F'(x)g(x)
=f(x)g'(0)
F0g0)-[ F'(g(dx  f(X)g'(x)
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_[Iog xdx = Il- log xdx = j(x)’ log xdx
1 = xlogx—jx(log X)"dx

1 ™ :xlogx—J’xldx
X

=x|ogx—jdx
=xlogx—x+c¢
=x(logx-1)+c
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Ixe‘xdx = Ix(—e‘x)'dx =Xx(-e7) —j(x)'(—e‘x)dx
=-xe - j (-e™)dx=—-xe ™ + Ie’*dx
t=-x dt = —dx

je’*dx = —Ie’*(—l)dx = —je‘dt =—e'+c=—e*+cC

Ixe‘xdx =—xe*-e*+c¢C
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(3)

J.sin’1 xdx

J'sin’1 xdx = xsin ™ x—J‘x(sin’1 X)'dx

= xsin’lx—-[x~
t=1-x° dt = —2xdx
=] agax=-2[ L

1 1
. '|.t7dt =—tZ4+c=—V1-x*+c

e
J.sin‘1 xdx = xsint x++/1-x% +c¢

2007/06/21 (o} 13




